
Exponential Relations – Day 2: Negative and Zero Exponents 
 

Complete the table. Rewrite negative exponents and leave as fractions. 

Show your steps as in the examples included! 

54 × 52 

 = 54 + 2 

 = 56 

 = 15,625 

24 × 2-2 3-3 × 3-2 8-2 × 85 

43 × 4-2 62 × 6-4 7-6 × 7-3 93 × 9-3 

 

42 ÷ 44 

 = 42-4   = 4-2 

 

 = 
1

42
  = 

𝟏

𝟏𝟔
 

32 ÷ 35 2 ÷ 2-2 5-2 ÷ 5-2 

74 ÷ 72 107 ÷ 1011 64 ÷ 6-3 8-2 ÷ 8-1 

 

(52)-2 

 = 52×(-2)   = 5-4 

 

 = 
1

54
  = 

𝟏

𝟔𝟐𝟓
 

(33)2 (24)3 (2-3)2 

(7-1)4 (10-3)-1 (64)-2 (8-2)-1 

 


